L. Mental Maths

'—————————

writing numbers Patterns Addition
Words Number || | 1 22 24 26 134+14= 7.54+21=
Fifty-Seven 2112233, |l 232+44- 8.31+63=
Thirty 3.30.34.38. || 356+23=- 9.42+17=
Twenty-T
wenty= Wwo 4102030, || 4 51+40- 10.50+25-=
Seventy-One
, 5.12 14 16, 5 524+32= 11.55+34=
Thirteen
- 12.13+ 64 =
Forty-three 6.42, 46, 50, __ 6.36 + 27 *

Shade odd numbers How many tens and ones? /3 & %
32 | 29 | 25 | 53 | 46 | 50 | 52 1.52-Tens=___ Ones=___ LY/
53 | 62 | 51 | 35 | 33 | 54 | 18 2.68-Tens=___ Ones=___ A\

3.48 -Tens=____ Ones =
37 | 85 | 78 | 81 | 23 | 21 | 22 ens= ____Unes=
4 54 -Tens=___ Ones-=

32 36 66 | 62 69 | 71 21

5.76 - Tens=___ Ones =




L. Mental Maths

'—————————

writing numbers Patterns Addition
Words Number |} | 1 22, 24, 26, 28 1.34+14=48 7.54+21=75
Fifty-Seven o7 2.11,22, 33, 44 2.32+44=76 8.31+63=94
Thirty 30 3.30, 34, 38, 42 3.56+23=79 9.42+17=59
Twenty-Two 22 4.10, 20, 30, 40 4 51+40=91 10.50+25=75
Seventy-One 71 512 14 16 18 5 52+32=84 11.55+34=89
Thirteen 13 6 42 46 50 54 || 6.36+27=63 12.13+ 6477
Forty-three 43 T
Shade odd numbers How many tens and ones? 75 & ¥
32 | 29 | 25 | 53 | 46 | 50 | B2 1.52 - Tens =50 Ones =2 A
53 62 51 35 33 54 18 2.68-Tens=60 Ones=8 :
3.48 - Tens =40 Ones =8

37 | 85 | 78 81 23 21 22

4 54 - Tens=54 Ones=-4
B.76 - Tens=70 Ones=6

32 36 66 | 62 69 | 71 21




